Order Matters!
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To be able to multiply matrices, the of the first matrix must be the same as
the of the second matrix.
The order of the product ( the new matrix ) will be the of the first matrix and
the of the second matrix.

Find the order of each of the matrices below and determine if you could multiply them or not. If so, state the
order of the product.
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Multiplying matrices is NOT like adding or subtracting. There are a few extra steps you must take in
order to successfully multiply them.

Start with two matrices that can be multiplied. 1 9 3 7 8 i
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then add them up. That sum goes in the position where
the arrows meet.
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Remember not to use the numbers in your answer il | 1
matrix when computing other spaces. For example, the [

58 was not used when finding the 64.
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Now let’s practice actually multiplying matrices together.

2. BxA=

3. BxC=



Three teams are in a track meet. They will receive 10 points for a 1% place finish, 8 points for a 2" place finish,
6 points for a 3" place finish, and 4 points for a 4™ place finish. The total amount of each finish for 10 events is
listed in the matrix below. How many points will each team score? Which team will win the meet?
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George Washington received two new units for the battle against the British and needed to outfit them before
sending them off. Looking at his records, he knew that each rifle costs $60, each powder horn costs $2, and
each uniform costs $35. The first unit needs 14 rifles, 30 powder horns, and 18 uniforms. The second unit
needs 16 rifles, 25 powder horns, and 20 uniforms. Write two matrices that represent this information and
multiply them accordingly to find the total cost of equipment for each unit.



